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3/8/17 9:13 PM C:\Users\Barry\Dropbox...\ComputeFregResp.m 1 of 2
% Filename: ComputeFregResp.m
% Author: Barry Dorr
% Last Modified: 10-23-2012
% This script computes the frequency response for a s-domain transfer function.
| Stonk X
clear all; Wwo- J A/%L
close all; W A
StartFreq = 1/2/pi; % Lowest frequency to plot.
NumDec = 6; % Number of decades to plot.
PtsPerDec = 200; % Number of frequency points plotted per decade.
% Pre-allocate results matricies.
MagResp = zeros (NumDec*PtsPerDec,1); % Matrix containing magnitude response.
PhaseResp = zeros (NumDec*PtsPerDec,1); % Matrix containing phase response.
Freq = zeros(NumDec*PtsPerDec,1); % Matrix containing plot frequencies.
% Compute frequency response at frequency points uniformly-spaced on a log plot.
for i=1 : NumDec*PtsPerDec '
Freqg(i) = StartFreg*10” (i/PtsPerDec) ; % Evaluate at this frequency.
s = 13 * 2*pi*Freq(i); % Determine complex frequency.
H = 100*(14+s/500)/((1+s/50) * (1+s/2122)); % Compute response at this frequency.
MagResp (i) = abs (H):; % Place magnitude response in result matrix.
PhaseResp (i) = angle(H)*360/(2*pi); % Place phase response in result matrix.

end

[o)

% Plot magnitude and phase.

oM
subplot (2,1,1); M——P“’*’ b

HMag=semilogx (Freq*2+*pi, 20*1ogl0 (MagResp), 'color','k', 'linewidth', 2); % Plot magnitude

set(gca, 'FontSize',12);
xlabel ('Freq (Hz)'):
ylabel ('Response (dB)');
ylim([-20 401);

grid on;

subplot(2,1,2); >

HPhs = semilogx(Freg*2*pi,PhaseResp, 'color','k', 'linewidth', 2); % Plot phase
set (gca, 'FontSize',12);

xlabel ('Freq (Hz)'):

ylabel ('Phase (Degrees)');

ylim([-180 180]);

set(gca, 'YTick', [-180, -90, 0, 90, 180]);

grid on;
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